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University No-- name

Take g = 9.8 ms™ where ever needed

1 | In the figure, the coefficient of kinetic friction between the surface and
the larger block is 0.2, and the coefficient of kinetic friction between
the surface and the smaller block is 0.3. If F= 14 N and M = 1 kg, the
tension in the connecting string is:

a) 51N b) 6oN €) 74N d) 87N

2 | A 2 kg block slides on a rough horizontal surface. A force (P=8N)is
applied to the block as shown in the figure. If the magnitude of the
block’s acceleration is 1.2 m/s% the magnitude of the force of friction
acting on the block is:

a) 62N b)14N ¢) 28N d)3.7N

3 | In the figure, if F = 20 N and M = 1.5 kg, the tension in the string
connecting M and 2M is:
(Assuming that all surfaces are frictionless)

a)23.1N b) 198N €) 165N d) 271N

4 |Ifa=40° f=60° and M=8 kg, the tension in string 1 is:

a)40N b) soN €) 60N d)20N e) 30N

5 | As shown in the figure, a block slides down a frictionless plane having
an inclination of @ = 25°. If the block starts from rest at the top and the
length of the incline is 2 m, the acceleration of the block when it
reaches the bottom of the incline is:

Q) 3.35 /s b) 4.14 m/s* €) 5.43 m/s d) 1.23 mvs? €) 2.54 m/s*

6 | A 1500 kg car is moving on a flat, horizontal road negotiates a curve of radius 50 m, If the car speed
is 13.1 m/s, the coefficient of static friction between the tires and the pavement is:

a) 0.53 b) 0.44 €) 035 d) 0.62 e) 0.23

7 At one instant a 2 kg particle has a speed of 20 m/s. At a later instant, it has a speed of 25 m/s. The
work done on the particle by all the forces acting on it is:

a)225] b) 951 €) 1057 d) 1257 e)175]
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8 | Aforce of 12 N is applied on a box at an angle of 20° with the horizontal. The work done bf this

force as the box moves a horizontal distance of 7 m is:

a) 223J b)33.81 €) 56.41 d) 7891

€) 1237

9 | In the figure, The block of mass m=10 kg (on a horizontal rough surface)
is released from rest when the spring (k=1.4 kN/m) is stretched a
distance 8 cm. If the magnitude of the frictional force between the block
and the surface is 40 N, the kinetic energy of the block as it passes
through its equilibrium position is:

a) 25J b) 3.7J €)13J d)s6J

€)4.9]

10 | The figure shows the mountain slope and the valley along
which a rock is falling. The rock has a mass m, and starts Rock
from rest to fall from a height y = H=40 M, MOVES & ., _ 4
distance d; along a slope of angle 6 = 45° and then moves ° :
a distance d, along a flat valley before coming to rest. If
the coefficient of kinetic friction is equal to 0.6 on the

5 ) e
whole track, then d, is: J

a) 333m b)26.6m €)102m d)523m

€) 40.0m

11 | What is the spring constant & of a spring that delivers a power of 75 W when released from a

compression of 7.5 cm in 1 second?

) 8.9 x 10° N/m b) 1.9 x 10° N/m €) 2.7 x 10* N/m d) 8.6 x 10 N/m

€) 1.2 x 10’ N/m

12 | The apparent weight of a fish in an elevator is greatest when the elevator.

a) moves downward  b) moves downward ¢) accelerates d) is not moving
at constant velocity. at constant velocity downward

€) accelerates
upward

13 | A split curved highway has a number of curved lanes for traffic in one direction ( padie (Fnie gy s 31k

is correct?
a) The force on A is b) The force on A is ¢) The forceon B d) The force on B is
half the force on B. . four times the force on . is four times the half the force on A.
force on A:

(aly oladl o @l o) 5l Liniall @l jadll 0 332 N, The radius for the inside of the curve is half the
radius for the outside. One car, car A, travels on the inside while another car of equal mass, car B,
travels at equal speed on the outside of the curve. Which statement about resultant forces on the cars

€) None of those -

14 | A dart is loaded into a spring-loaded toy dart gun (a0 236 Lea) Aoy Ll = pexs Jes ) by pushing

) two times as b) the same ¢) four times as d) half as much
much much

the spring a distance d. For the second loading, the spring is compressed a distance 2d. How much
work is required to load the second dart compared to that required to load the first?

€) one-fourth as
much




University No-- name
15 | If we know the potential energy function Ux) for a system in which a one-dimensional force H() |
acts on a particle, we can find the force as:
2) F(x) = - dux) e b) F(x)=-du(x) ©) F(x) = du(x) d) None of those €) F(x)=- du(x)
dx dx dx
The end
Rough work
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University No- name

Take g = 9.8 ms™ where ever needed

1 | In the figure, the coefficient of kinetic friction between the surface and
the larger block is 0.2, and the coefficient of kinetic friction between
the surface and the smaller block is 0.3. If F = 12 N and M = 1 kg, the _
tension in the connecting string is: .

a) 51N b) 60N €) 74N d) 87N

2 | A 2 kg block slides on a rough horizontal surface. A force P=7N)is
applied to the block as shown in the figure. If the magnitude of the
block’s acceleration is 1.2 m/s’, the magnitude of the force of friction
acting on the block is:

a) 62N b)1.4N ¢) 28N d)37N

3 | In the figure, if F =30 N and M = 1.5 kg, the tension in the string
* | connecting M and 2Mis:
(Assuming that all surfaces are frictionless)

a)23.1N b) 198N €) 165N d)27.1N

4 |Ifa=40° B=60°and M=6 kg, - the tension in string 1 is:

a)40N b) soN €) 60N d)20N

5 | As shown in the figure, a block slides down a frictionless plane having
an inclination of @ = 20", If the block starts from rest at the top and the
length of the incline is 2 m, the acceleration of the block when it
reaches the bottom of the incline is:

) 3.35 m/s® b) 4.14 nvs? €) 5.43 m/s? d) 1.23 nvs? ) 2.54 nvs?

6 | A 1500 kg car is moving on a flat, horizontal road negotiates a curve of radius 40 m, If the car speed
is 13.1 m/s, the coefficient of static friction between the tires and the pavement is:

a) 0.53 b) 0.44 €) 035 d) 0.62 €) 0.23

7 At one instant a 2 kg particle has a speed of 15 m/s. At a later instant, it has a speed of 20 m/s. The
work done on the particle by all the forces acting on it is:

a) 2257 b) 951 €) 1057 d) 1257 €) 175]
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| Aforce of ]2 N is applied on a box at an angle of 20° with the horizontal. The work done by this
force as the box moves a horizontal distance of 5 m is:
a) 223] b)33.81 ¢) 56417 d) 7897 €)123]

9 | In the figure, The block of mass m=10 kg (on a horizontal rough surface)

is released from rest when the spring (k= 1.4 kN/m) is stretched a
distance 8 cm. If the magnitude of the frictional force between the block i
and the surface is 10 N, the kinetic energy of the block as it passes
through its equilibrium position is: :
a) 2.5J b) 371 €)13J d)se6s €)4.9]
10 | The figure shows the mountain slope and the valley along
which a rock is falling. The rock has a mass m, and starts
| from rest to fall from a height y = H=50 m, moves a
" | distance d; along a slope of angle 8 = 45° and then moves
a distance d; along a flat valley before coming to rest. If
the coefficient of kinetic friction is equal to 0.6 on the
whole track, then d, is:
a) 333m b)26.6 m €) 102m d) 523 m €) 40.0m

11 | What is the spring constant k of a spring that delivers a power of 50 W when released from a
compression of 7.5 cm in 1 second?

a) 8.9 x 10’ N/m b) 1.9 x 10* N/m €) 2.7 x 10° N/m d) 8.6 x 10* N/m €) 1.2 x 10’ N/m

12 | The apparent weight of a fish in an elevator is greatest when the elevator.

a) moves downward  b) moves downward ¢) accelerates d) accelerates €) is not moving
at constant velocity. at constant velocity upward downward

13 | A split curved highway has a number of curved lanes for traffic in one direction (e inda ay yu (31 ke
(3nl oladl (8l ladl g 5al diaiall @ yadl) e 33= Y. The radius for the inside of the curve is half the
radius for the outside. One car, car A, travels on the inside while another car of equal mass, car B,
travels at equal speed on the outside of the curve. Which statement about resultant forces on the cars
is correct?

a) The force on Ais  b) The force on A is ¢) The forceon B d) The force on B is €) None of those
halfthe force on B."  four times the force on is half the force on ~ four times the force ;
B. A on A.

14 | A dart is loaded into a spring-loaded toy dart gun (peaoU 2836 Lad L3k (all Ll s Jan ) by pushing
the spring a distance d. For the second loading, the spring is compressed a distance 2d. How much
work is required to load the second dart compared to that required to load the first?

a) two times as b) four times as ¢) the same d) half as much €) one-fourth as
much much much
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If we know the potential energy function U(x) for a system in which a one-dimensional force F(x)
acts on a particle, we can find the force as:

a) F(x)= - dux) o) b) F(x) = —du(x) ) Flx)=— du(x) d) F(x)= du(x) €) None of those
dx dx dx
The end
Rough work
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Take g = 9.8 ms? where ever needed

1 In the figure, the coefficient
the larger block is 0.2, and the coefficient of kineti
the surface and the smaller block is 0.3. If = 10 N
tension in the connecting string is:

a) 51N b) 60N €) 74N

A 2 kg block slides on a rough
applied to the block as shown in the fi
block’s acceleration is 1.2 m/s%, the magnitude of
acting on the block is:

a) 62N b)1.4N €) 28N

of kinetic friction between the surface and

horizontal surface. A force
gure. If the magnitude of the

¢ friction between
and M = 1 kg, the

d) 87N
(P=6N)is

the force of friction

d)37N

In the figure, if F = 40 N and M
connecting M and 2M is:
(Assuming that all surfaces are Jfrictionless)

a) 231N b) 198N €) 165N

= 1.5 kg, the tension in the string

d) 271N

If @=40°, 8= 60°, and A/ = 4 kg, . the tension in str

a)40N b) 50N €) 60N

ing 1 is:

d)20N

As shown in the fi
an inclination of 0
length of the incline

reaches the bottom of

=15
5.2

he incline is:

a) 3.35 m/s? b) 4.14 nys? €) 5.43 m/s?

gure, a block slides down a frictionless
- If the block starts from rest at th
is 2 m, the acceleration of the b,

plane having
e top and the
lock when it

d) 1.23 mys?

€) 2.54 m/s?

A 1500 kg car is moving on a flat, horizontal road ne
is 13.1 m/s, the coefficient of static friction between

a) 0.53 b) 0.44 ¢) 035

gotiates a curve of radius 33 m, If the car speed
the tires and the pavement is:

d) 0.62 e) 0.23

At one instant a 2 kg particle has a speed of 10 m/s.
work done on the particle by all the forces acting on
b) 9571

a) 2257 €) 1057

At a later instant, it has a speed of 15 m/s. The

it is:

d) 1257 e)175)
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8

A force of 12 N is applied on a box at an angle of 20° with the horizontal. The work done by this
force as the box moves a horizontal distance of 3 m is:

a) 2231] b)33.81 €) 56.47 d) 7891 e)123J

In the figure, The block of mass m=10 kg (on a horizontal rough surface)
is released from rest when the spring (k= 1.4 kN/m) is stretched a
distance 8 cm. If the magnitude of the frictional force between the block
and the surface is 25 N, the kinetic energy of the block as it passes
through its equilibrium position is:

a) 2.5J b) 373 €)1.31] d)se6) €)4.9]

10

The figure shows the mountain slope and the valley along
which a rock is falling. The rock has a mass m, and starts R"Ck‘?“\
from rest to fall from a height y = H=60 m, moves a
distance d; along a slope of angle § = 45° and then moves
a distance d> along a flat valley before coming to rest. If
the coefficient of kinetic friction is equal to 0.6 on the
whole track, then d, is:

a) 333m b)26.6m €) 102m d) 523 m €) 40.0m

11

What is the spring constant £ of a spring that delivers a power of 25 W when released from a
compression of 7.5 cm in 1 second?

a) 8.9 x 10° N/m b) 1.9 x 10* N/m €) 2.7 x 10* N/m d) 8.6 x 10* N/m €) 1.2 x 10° N/m

12

The apparent weight of a fish in an elevator is greatest when the elevator.

a) moves downward  b) moves downward ~ ¢) accelerates d) accelerates €) is not moving
at constant velocity. at constant velocity downward upward

13

A split curved highway has a number of curved lanes for traffic in one direction ( puie sk gy Gy
(305 olatl 8 bl 5 Aiaiall &l yedll (0 232 I, The radius for the inside of the curve is half the
radius for the outside. One car, car A, travels on the inside while another car of equal mass, car B,
travels at equal speed on the outside of the curve. Which statement about resultant forces on the cars
is correct?

a) The forceon Ais b) The forceonBis  ¢) The forccon A d) The force on B is €) None of those

half the force on B.  half the force on A. is four times the four times the force
force on B." - onA.

14

A dart is loaded into a spring-loaded toy dart gun (pe~>U 4338 4aal 483y i o agas Jas ) by pushing
the spring a distance d. For the second loading, the spring is compressed a distance 2d. How much
work is required to load the second dart compared to that required to load the first?

a) four times as b) two times as much  ¢) the same d) half as much €) one-fourth as
much much
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5 [Itwe know the potential,energy function Ufx) for a system in which a one-dimensional force F, ()
acts on a particle, we can find the force as:

a) F(x) = -? ) b) F(x)=-du(x) ) F(x)= d"Tl(:)_ d) Fix)=- 'd';(x_X) €) None of those
The end
Rough work




